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= po 4195 0.0
pL -35.9+ 0.0

TP delay [ns]

TVC(c, bch) (0,14,5

- i 379e+u4 [ 25
e pO 4207+ 0.0
pL -35.02:+ 0.00

50 1(;0
TP delay [ns]

TVC(c, bch) (0, 14 9

Tnung.zge+ud | 25
= po 4219+ 0.0
pl -36.17 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0.14,13

T nuib3ve+ud [ 25
- pO 4226+ 0.0
p1 -36.5+ 0.0

TP delay [ns]

4000

2000

4000

3000

2000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (0,14,2)

1000

A- 1w L 4ne+ud /25
- po 4201+ 0.0
[ p1 36+ 0.0

3000

TP delay [ns]

TVC(cbch) (0.14,6

1000

-1 i zog4e+u4 [ 25
- pO 4206+ 0.0
[ pl -34.15+ 0.00

TP delay [ns]

TVC(cbch) (0, 14 10

1 nuz.gage+u4 | 25
o=, po 4232+ 0.0
- pl -36.11 + 0.00

TP delay [ns]

TVC(cbch) (0.14,14

T rnuiLa43e+04 / 25
o=, pD 4241+ 0.0
L p1 -37.29+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,14,3)

AT 1L sooe+ud [ 25
- po 4199+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(c, bch) (0,14,7

- nui 391e+u4 / 25
- pO 4207+ 0.0
p1 -34.69+ 0.00

TP delay [ns]

TVC(eh.ch)=(0, 14, 11

T inuiLyrge+ud [ 25
= pO 4231% 0.0
pl -36.21+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,14,15

T inuiproe+ud [ 25
- po 4245+ 0.0
p1 -37.48 + 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=( 0, 15,0)

T LAl ©8oU3 /25
[, po 4194+ 0.0
pl -33.74 + 0.00

TP delay [ns]

TVC(cbch) (0,154

- rnui15ze+04 / 25

- pO 4210+ 0.0
Pl 3614+ 000

50 10‘0
TP delay [ns]

TVC(cbch) (0, 15 8

1 nuiL yoye+ud / 25

= pO 4219+ 0.0
Pl -35.431 0.00

1
0 50 100

TP delay [ns]

TVC(cbch) (0,15, 12

1 nui b34e+u4 [ 25

- pO 4230 0.0
pl -35.01+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,15,1)

Srnar sosl/ 25
- PO 4194% 0.0
pL -33.21+ 0.00

TP delay [ns]

TVC(cbch) (0,155

-1 nui 3ble+u4 / 25
e, pO 4212+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 15

Ty 3zoe+u4 [ 25
- pO 4257+ 0.0
pL -35.52.+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0.15,13

T ss4e+u4 [ 25
- PO 4221 0.0
pl -34.85 + 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (0,15,2)

X~ 1w lore+U4 /25
-, po 4217+ 0.0
F pl -35.44 + 0.00

3000

TP delay [ns]

TVC(cbch) (0.15,6

- /0L 268e+04 | 25
- pO 4218+ 0.0
I pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (0, 15 10

~ 1 nug,upbe+ud / 25
- DO 4276+ 0.0
I pl -36.22 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 14

T gsze+ud [ 25
- pD 4217+ 0.0
I pl -34.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,15,3)

AT 1 nuiLUZoe+u4 / 25
- PO 4211£ 0.0
pl -34.99 + 0.00

TP delay [ns]

TVC(c, bch) (0,157

-1 nui b3ye+ud / 25
= PO 4233+ 0.0
pL -36.72.+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 1

T b/be+u4 / 25
- p0 4253+ 0.0
pL -34.57  0.00

TP delay [ns]

TVC(cbch) (0,15,15

a1 4ne+ud [ 25
- po 4227400
pl -35.05 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,0,0

A1 suoe+u4 [ 25
e, po 4182+ 0.0
p1 -36.35+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (10,4

- i 334e+04 / 25
4165+ 0.0
-36.1+ 0.0

50 10'0
TP delay [ns]

TVC(cbch) (1 0,8

- Suze+04 1 25
b, pD 4188+ 0.0
p1 -34.48 £ 0.00

1
50 00

TP delay [ns]

TVC(cbch) (1,0,12

- i s07e+04 /25
o, po 4201 0.0
p1 -35.08 + 0.00

P B S S
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,1)

T 1sse+ud [ 25
., pO 4185+ 0.0
p1 -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (1, O

-1 414e+04 [ 25
Foe.. pO 4174+ 0.0
p1 -35.57 % 0.00

50 150
TP delay [ns]

TVC(c,b ch) (1 0,9

Tinuz Y/ e+ud [ 25
= pO 4210+ 0.0
p1 -34.68 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (1, O 13

T nuiL pyse+ud / 25
= pO 4200+ 0.0
pl -36.08 + 0.00

P R T
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (1,0,2)

TP delay [ns]

TVC(cbch) (10,6

A1 1zoe+04 [ 25
- po 4179+ 0.0
L pl -35.67 + 0.00

3000

-1 nui 3b4e+04 [ 25
= pO 4184 0.0
[ pL -35.56 + 0.00

TP delay [ns]

TVC(eb,oh)=(1, 0, 10

1000

0

T 14e+u4 /25
- po 4228+ 0.0
[ p1 -34.88 + 0.00

TP delay [ns]

TVC(cbch) (1,0,14

-1 5zze+04 [ 25
= pD 4214+ 0.0
L p1 -37.39.+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3)

~ i s1e+04 25
- pO 4202+ 0.0
pL -36.47 £ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

S rnan 153e+04 [ 25
e, pO 4195+ 0.0
p1 -36.43+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (1, O

T dbbe+l}4/25
4236+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(c,b ch) (1, O 15

- i poze+ud [ 25
= pO 4207 0.0
p1 -36.56 + 0.00

PR IR T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,1,0)

A7 1 nui4o0e+04 /25
P po 4176+ 0.0
pl -36.25+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (11,4

- i 35z2e+04 [ 25
== po 4175+ 0.0
pl -35.73+ 0.00

50 10‘0
TP delay [ns]

TVC(eboh)=(1, 1,8

© il bsge+U4 / 25
= po 4195+ 0.0
pl -34.71+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,1,12

T i ba0e+U4 / 25
= po 42114 0.0
pl -36.43+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1)

K™ rnuaiL4g1e+ud [ 25
po 4196+ 0.0
p1 -35.71+ 0.00

TVC(c,b ch) (1, 1

1
100

TP delay [ns]

-1 i boae+u4 [ 25
pO 4193+ 0.0
pL -36.18+ 0.00

TVC(c,b ch) (1, 1

1(;0
TP delay [ns]

-1 nug suse+u4 / 25
po 4220+ 0.0
p1 -34.39+ 0.00

1
100

TP delay [ns]

TVC(cbch) (1,1,13

Tonan g z4e+ud [ 25
pO 4203+ 0.0
pl -36.85+ 0.00

PR
100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (1,1,2)

AT 1nun ss1e+04 /25
— po 4195+ 0.0
o pl -35.39+ 0.00

3000

TP delay [ns]

TVC(cbch) (11,6

©1nuiL449e+04 | 25
[F-e. pO 4202+ 0.0
- pl -36.06 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 1, 10

© 1 nuiLgooe+u4 / 25
= po 4227+ 0.0
[ p1 -34.49+ 0,00

3000

TP delay [ns]

TVC(cbch) (1,114

~ 1L zobe+ud / 25
= pD 4213+ 0.0
+ pl -36.88 + 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3)

AT rnuiL4s0e+u4 [ 25
po 4203+ 0.0
p1 -35.04 + 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

- nun 3z23e+04 / 25
pO 4202+ 0.0
pL -35.28+ 0.00

TVC(c,b ch) (1, 1

TP delay [ns]

1)
-1 nuiL bboe+ud / 25
po 4230+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (1,1,15

T nan ssse+ud [ 25
po 4204+ 0.0
p1 -35.32+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,2,0)

AT inuissre+04 /25
. po 4195+ 0.0
pl -36.76 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,24

T i zzze+04 | 25
Fe pO 4213+ 0.0
pl -35.93+ 0.00

50 10‘0
TP delay [ns]

TVC(ebch)=(1,2,8

©1nuizuL4e+u4 [ 25
= po 4197+ 0.0
pl -35.02+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,212

TrnuiLgre+u4 /25
= po 4240+ 0.0
pl -36.78 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1)

AT 1 nuLsuze+ud [ 25
Fee,, po 4196+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

= 1 nuiL agve+ud / 25
[ree, po 4231+ 0.0
pl -35.86 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 2

T nug.ylye+ud / 25
= po 4219+ 0.0
pl -35.19 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (1,213

T inuiLnoe+ud [ 25
= pO 4238+ 0.0
p1 -37.3+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (1,2,2)

AT 1nuii41e+04 /25
__- po 4209+ 0.0
L pl -35.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

- rnunL413e+04 / 25
- pO 4240+ 0.0
[ pl -36.03+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 2, 10

T LYz /e+u4 [ 25
o=, po 4228+ 0.0
- pl -35.22 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,214

T i b4ze+04 [ 25
- pD 4239+ 0.0
L pl -36.26 + 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3)

AT rnuiL410e+u4 /25
=, po 4203+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

=1 nui S29e+04 / 25
= po 4236+ 0.0
pl -35.73+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 2

T, /bée+U4/25
po 4250+ 0.0
pl -35.98+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (1,215

-1 nui puse+ud / 25
= po 4235+ 0.0
p1 -36.25+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,3,0

A7 1 nui puse+ud / 25
. po 4206+ 0.0
pl -37.29+ 0.00

TP delay [ns]
TVC(cbch)(134) -
11 zgbe+u4 [ 25
= pO 4200@
pl -37.24+ 0.00
[ C =26.85[ps/c ]
5(‘) 10‘0
TP delay [ns]
TVC(c,b ch) (1, 3 8

T 1nuiLbase+u4 | 25
po 4230+ 0.0
pl -35.37 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,312

T s41e+04 /25
pO 4193+ 0.0
pl -33.45+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,1)

AT rnuiLsiie+ud /25
.. po 4207+ 0.0
pl -35.88 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 3

-1 nui 31Ye+u4 / 25
E pO 4231% 0.0
pL -38.52:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1 3,9

T inu ro1e+u4 /25
- pO 4249+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (1,3,13

T nai szoe+ud 25
= pO 4195 0.0
pl -33.57+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (1,3,2)

TP delay [ns]

TVC(cbch) (1,36

A7 1 nui4yse+u4 / 25
_- po 4210+ 0.0
o pl -36.18+ 0.00

3000

T 1b4e+04 /25
3 pO 4231+ 0.0
- pl -38.35+ 0.00

TP delay [ns]

TVC(cbch) (1, 3 10

1000

0

© 1 nuiLbyse+u4 [ 25
. po 4270+ 0.0
- pl -35.93+ 0.00

TP delay [ns]

TVC(cbch) (1,3 14

S T1233725
-, pD 4190+ 0.2
[ pL -33.49 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3

AT rnuiLbzie+ud [ 25
- po 4225+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

- rnui bl /e+u4 / 25
- pO 4237+ 0.0
pL -37.97+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 3

a1 4ze+u4/25
- pO 4253+ 0.0
pL -35.62:+ 0.00

TP delay [ns]

TVC(C, bch) (1,315

Tnuisy/e+ud [ 25
= pO 4199+ 0.0
p1 -34.14+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,4,0)

AT inunsrse+04 /25
4220+ 0.0
-38.41+ 0.00

50 100

TP delay [ns]

TVC(cbch) (14,4

Tz ze+u4 [ 25
F==, pO 4202+ 0.0
pl -35.07 + 0.00

50 10‘0
TP delay [ns]

TVC(ebioh)=(1, 4,8

T3/ re+u4 [ 25
- pO 4242+ 0.0
pl -36.68 + 0.00

1
0 50 100

TP delay [ns]

TVC(cbch) (1,412

1L 500e+U4 / 25
= po 4207+ 0.0
pl -35.02+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1)

K™ rnuiL413e+ud [ 25
F po 4224+ 0.0
pl -38.98 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

= nui 330e+04 / 25
== po 4217+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

T nu no3e+ud /25
- po 4270+ 0.0
pl -36.69 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (1,4,13

TinuiLas/e+ud [ 25
- pO 4217+ 0.0
pl -35.97 + 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (1,4,2)

A7 1 nui soze+04 /25
F po 4227+ 0.0
o pl -38.11 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,4,6

Crna 1 zze+u4 [ 25
- pO 4222+ 0.0
[ pl -36.58+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 4, 10

©1nuzbyze+u4 | 25
- DO 4290+ 0.0
L pl -37.47 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,414

T sise+u4 [ 25
- pD 4220+ 0.0
L p1 -35.87 + 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

TonunLg1e+04 /25
=, pO 4229+ 0.0
pl -37.77+ 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

= 1 nuiLauze+ud | 25
= po 4228+ 0.0
pl -35.84 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 4

1)
T nui g3be+u4 / 25
- po 4277+ 0.0
p1 -36.45 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (1,4,15

~ 1 nui byze+ud [ 25
= pO 4212+ 0.0
p1 -36.27 + 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,5,0

A7 1 nui auoe+ud [ 25
P po 4192+ 0.0
pl -35.75+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,54

T b3 /e+u4 [ 25
b pO 42254 0.0
pl -36.00+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 5,8

©1nuiz,gu4e+u4 [ 25
- po 4236+ 0.0
pl -36.48 + 0.00

1
50 100

TP delay [ns]
TVC(Cbch) (1, 5 12)
-1 nuizuspe+ud / 25
e, po 4253+ 0.0
pl -36.05+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,51

x- 1L doserud | 25
Frase po 4197 + 0.0
pL -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

-1 nui 383e+04 / 25
pO 4225 0.0
-36.18+ 0.00

TP delay [ns]

TVC(c,b ch) (1 59

T nu1z2ze+04 / 25
- po 4260+ 0.0
pl -36.31+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (1,5,13

== po

T nuiLysve+ud / 25
4248+ 0.0
pl -35.89+ 0.00

TP delay

PR SRS S
50 100

[ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (1,5,2)
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,12,3)

AT rnuiL410e+u4 /25
- po 4181+ 0.0
pl -34.5+ 0.0

TP delay [ns]

TVC(c, bch) (1,127

- i Zb/e+u4 / 25
e, pO 4199+ 0.0
pL -35.62:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 12 11

T nuiL s ge+u4 [ 25
= po 4216+ 0.0
p1 -34.77 + 0.00

TP delay [ns]

TVC(cbch) (1,12,15

- Tonan g sbe+ud [ 25
4197+ 0.0
-35.31+ 0.00

TP delay [ns]



TVC(CbCh) (1,13,0)

4000

3000

2000

1000

X~ 1 g 540e+04 [ 25
po 4205+ 0.0
pl -37.63+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,134

4000

3000

2000

1000

-1 bz4e+04 [ 25
k. pO 4212+ 0.0
pl -35.32:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 13 8

4000

3000

2000

1000

0

1 nuiz,uuve+u4 | 25
= po 4196+ 0.0
pl -34.36 + 0.00

0

TP delay [ns]

TVC(cbch) (1,13,12

4000

3000

2000

1000

T r1se+u4 / 25
= po 4253+ 0.0
pl -36.68 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,13,1)

AT 1 nug sze+ud [ 25
Foase po 4205+ 0.0
pl -37.04 % 0.00

TP delay [ns]

TVC(c, bch) (1,135

- i /38e+u4 / 25
pO 4226+ 0.0
pL -35.71% 0.00

50 1(;0
TP delay [ns]

TVCEebeh)=( 1, 13,9

T nug.syle+ud / 25
- DO 4254+ 0.0
p1 -34.86 + 0.00

TP delay [ns]

TVC(cbch) (113,13

T nui oyae+ud [ 25
- pO 4256+ 0.0
pl -37.02+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(CbCh) (1,13,2)

K™ 1nuirao1e+04 /25
Freee po 4205+ 0.0
L pl -36.92+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,136

TNl 4e+04 /25
- pO 4235+ 0.0
- pl -36.32 + 0.00

TP delay [ns]

TVC(cbch) (1, 13 10

©1nuig.zu4e+u4 [ 25
F DO 4266+ 0.0
L pl -36.47 + 0.00

TP delay [ns]

TVC(cbch) (113,14

1000

1L by4e+04 [ 25
- pD 4238+ 0.0
L pl -36.24 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,13,3)

A1 olierud ] 25
po 4228+ 0.0
p1 -36.41% 0.00

TP delay [ns]

TVC(c, bch) (1,137

=1 nui yobe+u4 / 25
- pO 4240+ 0.0
p1 -36.47 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 13, 11

T nuiz 113e+u4 / 25
- pO 4260+ 0.0
pl -36.03 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,13,15

T inuiproe+ud [ 25
= pO 4258+ 0.0
p1 -37.19+ 0.00

P B S S
50 100

TP delay [ns]



TVC(CbCh) (1, 14 0)

4000

3000

2000

1000

T 1ule+u4 /25
pO 4202+ 0.0
p1 -36.9+ 0.0

0 50 10'0
TP delay [ns]
TVC(c,b ch) (1, 14 4
4000 £

3000

2000

1000

iU 125e+04 [ 25
e po 4179+ 0.0
pl -35.97 + 0.00

50 10'0
TP delay [ns]

TVC(ebeh)=(1, 14,8

4000

3000

2000

1000

0

- 1 iz 180e+04 | 25
po 4175+ 0.0
p1 -33.32% 0.00

0

TP delay [ns]

TVC(c,b ch) (1, 14 12

4000

3000

2000

1000

- 1 zz0e+04 [ 25
e, po 4262+ 0.0
p1 -37.03+ 0.00

P B S S
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,14,1)

A1 i z8ae+u4 | 25
P po 4195+ 0.0
pL -36.26+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 14 5

~ 1 nuiLu4se+u4 | 25
e pO 4102+ 0.0
pl -37.28 + 0.00

TP delay [ns]

TVCEebeh)=( 1, 14,9

-1 nun y3Le+u4 [ 25
== 4201+ 0.0
-35.2+ 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 14 13

T nui zoae+ud 25
= pO 4255 0.0
pl -37.53+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000 =,
3000
2000

1000

0

4000

3000

2000

TVC(CbCh) (1,14,2)

A1 zure+ud [ 25
__—- po 4214+ 0.0
L pl -36.84 + 0.00

3000

TP delay [ns]

TVC(c,b ch) (1, 14 6

_ Sy 1l1e+ud / 25
- pO 4176+ 0.0
L Pl -36.65+ 0.00

TP delay [ns]

TVC(cbch) (1,14, 10

- 1 huiLys e +Ud | 25
po 4225 0.0
p1 -34.96+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 14 14

1000

- nar J)..147 125
- pO 4261+ 0.0
[ pl -37.1+ 0.0

M R I B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,14,3)

A~ 1 nuiLUbse+ud | 25
- po 4231% 0.0
pL -37.21+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 14 7

- nui 191e+04 / 25
- pO 4200+ 0.0
p1 -36.33+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (1, 14 11

Tonan 1 bze+u4 [ 25
pO 4215+ 0.0
p1 -34.41+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 14 15

T nai zyae+ud [ 25
= pO 4256+ 0.0
p1 -36.72 + 0.00

PR IR T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 15 0)

© L byse+u4 [ 25
- pO 4207+ 0.0
p1 -38.1+ 0.0

TP delay [ns]

TVC(cbch) (1,154

- rnuiLa3ze+04 [ 25
- pO 4226+ 0.0
366+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (1, 15 8

1 nuiLbEYe+U4 / 25
- po 4227+ 0.0
pl -35.36+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,15,12

1L pose+u4 / 25
= po 4234+ 0.0
pl -35.51+ 0.00

PR RS SR B
50 100

TP delay [ns]

TVC(chh) (1,15,1)

4000 e po

AT rnuLbsie+ud /25
4209+ 0.0
pl -37.42+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (1,155

4000 fam, pO

pl

[ns]

- 1nui431e+04 / 25
4229+ 0.0
-36.34 + 0.00

3000 -

2000

1000 [~ C

50 1(;0
TP delay

TVC(c, bch) (1, 15 9

4000 [, po

[ns]

T inun4.19e+u4 [ 25
4261+ 0.0
-36.5 % 0.0

3000

2000

1000

1
50 100

TP delay

TVC(cbch) (115,13

4000 &,

[ns]

T 1 nuiL poye+ud 25
4231+ 0.0
pl -35.55+ 0.00

3000

2000

1000

TP delay

PR SRS S
50 100

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(CbCh) (1,15,2)

AT 1nui ruse+u4 /25
_l' po 4230+ 0.0
o pl -38.31+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,156

© 1L b44e+04 | 25
- pO 4231+ 0.0
- pl -35.43 + 0.00

TP delay [ns]

TVC(cbch) (1, 15 10

T 2.30e+04 /25
- po 4274+ 0.0
- pl -37.28 + 0.00

TP delay [ns]

TVC(cbch) (115,14

1000

T bsze+u4 [ 25
__ pD 4238+ 0.0
L pl -34.89+ 0.00

TP delay [ns]

TVC(Cbch) (1,15,3)

x- 1 wuLaSae+U4 | 25
4219+ 0.0
p1 -36.94 + 0.00

4000 [

po

3000

2000

1000

TP delay

TVC(c, bch) (1,157

4000 fam, pO

[ns]

-1 nui 29pe+u4 / 25
4232+ 0.0
pl -35.42 % 0.00

3000

2000

wool- C = 28.24 [ps/ch

TP delay

TVC(eh.eh)=(1, 15, 11

4000 pO

pl

[ns]

T nai rzae+04 [ 25
4292+ 0.0
-36.44 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (1,15,15

4000 [Gu.

[ns]

1 nui ozoe+ud / 25
4237+ 0.0
p1 -35.34+ 0.00

3000

2000

1000

TP delay

[ns]



TVC(cbch) (2,0,0

4000 &

3000 -

2000~

wool- C = 26.53 [ps/c 7

A7 1 nui zuse+u4 / 25
- po 4207+ 0.0
pl -37.7+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (2,0,4

- 11, Zobe+04 | 25
e pO 4194+ 0.0
pl -34.85+ 0.00

4000 &
3000~ 1
2000 7
1000~ C 7
0 EY 00
TP delay [ns]
TVC(cbch) (2,0,8)
- ~ 1 nuz,Quse+ud / 25
4000 [ pD 4189+ 0.0
pl -35.11+ 0.00

3000

2000

1000

0

1
50 100

TP delay [ns]

TVC(cbch) (2,0,12

4000 [

3000

2000

1000

T L bzoe+u4 / 25
pO 4207+ 0.0
pl -34.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (2,01

AT rnuiLzy/e+u4 [ 25
Frase po 4222+ 0.0
p1 -37.55+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,5

~ 1 nuy Urve+u4 [ 25
E pO 4196+ 0.0
p1 -34.54 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 0,9

~ 1 nug.y4se+ud [ 25
= pO 4201% 0.0
pl -35.95+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,0,13

T inuiasse+ud [ 25
pO 4223+ 0.0
pl -35.75+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,0,2)

TP delay [ns]

TVC(cbch) (20,6

K™ 1 nuidoze+04 /25
_l' po 4215+ 0.0
o pl -36.61+ 0.00

-1, 530e+04 / 25
- pO 4214 0.0
[ pl -35.47 + 0.00

TP delay [ns]

TVC(cbch) (2, 0 10

1000

0

T, r5ze+04 | 25
e, po 4228+ 0.0
L pl -36.45+ 0.00

TP delay [ns]

TVC(cbch) (2,0,14

T z4se+04 / 25
-, pD 4219+ 0.0
[ p1 -35.19+ 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,3

AT 1 nuiLoyye+ud [ 25
= po 4208+ 0.0
pl -36.37 + 0.00

TP delay [ns]

TVC(c,b ch) (2 0,7

~nuy 18/e+04 / 25
- pO 4214+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(c,b ch) (2, O

T, ib::e+l]4/25
= po 4237+ 0.0
pl -36.23+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,0,15

T 1 nui p4oe+ud [ 25
= pO 4206+ 0.0
p1 -34.65+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,1,0)

AT nuzsure+ud /25
p— po 4222+ 0.0
pl -40.38 + 0.00

TP delay [ns]

TVC(cbch) (21,4

- i b33e+04 / 25
e, pO 4179+ 0.0
p1 -35.42:+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2, 1,8

T z.29e+04 /25
po 4218+ 0.0
pl -36.93 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (21,12

1L pove+ud / 25
= po 4206+ 0.0
pl -35.07 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,1)

AT 1 nuiLys/e+u4 | 25
- po 4216+ 0.0
pl -39.16 + 0.00

TP delay [ns]

TVC(c,b ch) (2 1,5

- /nuL5Y1e+U4 [ 25
o DU 4195+ 0.0
pl -35.78 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 1

T nuigg3Ye+ud / 25
- pO 4245+ 0.0
pl -37.22+ 0.00

TP delay [ns]

TVC(cbch) (21,13

T inuis4/e+u4 /25
= pO 4228+ 0.0
pl -36.59 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000
3000
2000

1000

TVC(cbch) (2,1,2)

AT 1 nuig sose+u4 /25
o po 4222+ 0.0
- pl -37.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,1,6

- 1L 49pe+04 / 25
Fuuee pO 4199+ 0.0
[ pl -35.89+ 0.00

3000

TP delay [ns]

TVCebeh)=(2 1, 10

T L, r38e+u4 / 25
- po 4244+ 0.0
- pl -35.97 + 0.00

3000

TP delay [ns]

TVC(cbch) (21,14

T 1yoe+ud /25
pD 4223+ 0.0
pl -36.35+ 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3)

Trg.s/ze+u4 [ 25
o, pO 4230+ 0.0
pl -37.99+ 0.00

TP delay [ns]

TVC(c,b ch) (2 1,7

-1 nui boze+u4 [ 25
o, pO 4199+ 0.0
pL -35.81% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 1

T bb‘Je+U4/25
- pO 4249+ 0.0
-36.7 £ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (21,15

<1 nui oboe+ud / 25
= pO 4205+ 0.0
p1 -35.99+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,2,0)

A7 1 nui ooae+U4 /25
4177+ 0.0
p1 -35.14+ 0.00

1
50 100

TP delay [ns]
TVC(cbch) (2 2,4)
T UL 4p/e+04 / 25
.. pO 4199+ 0.0
pl -37.36 + 0.00
[ C=26.76 [ps/c ]
1 1
50 100
TP delay [ns]
TVC(cbch) (2 2,8)
-1z 480e+u4 / 25
== pD 4191+ 0.0
pl -35.33+ 0.00

1
50 100

p1

TP delay [ns]
TVC(cbch) (2,2,12)
©rnuiLgo4e+u4 / 25
= po 4238+ 0.0
-37.2+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1)

. PO

AT 1 nuLouLe+ud /25
4189+ 0.0
pl -36.32+ 0.00

TP delay

TVC(c,b ch) (2 2,5

[ns]

- nuiL411e+u4 / 25
4184+ 0.0
pl -36.27 + 0.00

TP delay

TVC(c,b ch) (2, 2

[ns]

T inai 314e+04 / 25
4236+ 0.0
-35.6 + 0.0

1
50 100

TP delay

TVC(c,b Ch) (2, 2 13

[ns]

Tinaisz/e+ud [ 25
4223+ 0.0
pl -36.33+ 0.00

PR SRS S
50 100

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (2,2,2)

. PO

K™ 1 nuiLdo0e+04 / 25
4194+ 0.0
-36.8+ 0.0

pl

pD

TP delay [ns]
TVC(cbch) (2,2,6) _
T /g1e+04 / 25
= 4199+ 0.0
-37.13+ 0.00

pl

TP delay

TVC(cbch) (2,2,10

. 90

[ns]

Tz rge+u4 /25
4229+ 0.0
pl -36.13 + 0.00

TP delay

TVC(cbch) (2,214

[ns]

T Ly roe+u4 / 25
4229+ 0.0
pl -37.06 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,3)

o pO

T 1ole+ud /25
4206+ 0.0
p1 -37.68+ 0.00

TP delay

TVC(c,b ch) (2 2,7

pO
pl

[ns]

- nu fz29e+04 [ 25
4202+ 0.0
-37.02+ 0.00

50 100
TP delay

TVC(c,b ch) (2, 2

= pO

[ns]

T yme+u4/25
4221+ 0.0
pl -35.47 + 0.00

TP delay

TVC(c,b ch) (2, 2 15

[ns]

T inan ) oge+ud [ 25
4224+ 0.0
-35.81+ 0.00

P B S S
50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0

AT inuisire+u4 /25
.. po 4208+ 0.0
pl -36.76 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,34

T L4 r5e+04 [ 25
e, pO 4209+ 0.0
pl -36.66+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 3,8

1 nuiz,0Ype+u4 / 25
= po 4228+ 0.0
pl -37.13+ 0.00

1
0 50 100

TP delay [ns]

TVC(cbch) (2,312

L puze+u4 / 25
= po 4230+ 0.0
p1 -34.9+ 0.0

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,31

AT 1 nuLsuze+ud [ 25
o=, po 4215+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,5

- nui 3z1e+04 / 25
e, pO 4198+ 0.0
pL -35.71% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 3,9

T nug.zoze+ud [ 25
= po 4259+ 0.0
pl -37.68 + 0.00

TP delay [ns]

TVC(C, bch) (2,313

Tinuin3/e+ud [ 25
= pO 4228+ 0.0
pl -34.87 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (2,3,2)

TP delay [ns]

TVC(cbch) (23,6

A~ 1nuizole+u4 /25
- po 4211+ 0.0
L pl -36.28 + 0.00

3000

©1nuiL4n4e+04 / 25
- pO 4219+ 0.0
- pl -35.99 + 0.00

TP delay [ns]

TVC(cbch) (2, 3 10

1000

0

T nuz139e+04 / 25
-, po 4271+ 0.0
- pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (2,314

~ 1L byze+u4 [ 25
4228+ 0.0
-34.81+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,33

AT rnuiLsr1e+ud [ 25
e, po 4209+ 0.0
pl -35.98+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,7

-1 nui 4ube+u4 / 25
- pO 4198+ 0.0
pL -35.17+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

T asze+u4/25
- po 4260+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(C, bch) (2,315

T inui4r0e+u4 /25
- po 4229+ 0.0
p1 -36.09 + 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000
3000 ]
2000~ ]
1000~ C ]
0 = 00
TP delay [ns]
TVC(cbch) (2,4,8)
TinuiL (bre+u4 / 25
2000 pD 4246+ 0.0
p1 -38.44 + 0.00
3000 ]
2000~ ]
1000 = ]
0y = 0
TP delay [ns]
TVC(cbch) (2.4,12)
T szie+ud / 25
4000 4245+ 0.0
-34.71+ 0.00

3000

2000

1000

TVC(cbch) (2,4,0

A~ 1 nui 3aze+04 | 25
= po 4205+ 0.0
p1 -35.07 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (24,4

- i Z55e+04 [ 25
== po 4210+ 0.0
pl -35.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,4,1

X1 i 3ave+Ud | 25
e, po 4191+ 0.0
pL -34.6:+ 0.0

TP delay [ns]

TVC(c,b ch) (2 4,5

- nun Zoze+u4 [ 25
- pO 4219+ 0.0
pL -35.98+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (24,9

Tonuae 3.8e+u4 /25
e pO 4261% 0.0
pL -37.48 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 4 13

T inai szoe+ud [ 25
= pO 4230+ 0.0
p1 -35.15+ 0.00

P R T
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,4,2)

TP delay [ns]

TVC(cbch) (24,6

1000

A~ 1nui 2zyae+ud | 25
.. po 4199+ 0.0
[ p1 -35.42:+ 0.00

3000

T 141e+04 /25
- pO 4230+ 0.0
- pl -36.91+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 4, 10

1000

0

- 1 nuizuSse+ud | 25
E- pO 4277+ 0.0
[ pl -37.33 0.00

TP delay [ns]

TVC(cbch) (2,4,14

-1 z3ze+04 [ 25
- pD 4233+ 0.0
[ pl -35.22:+ 0.00

P R T
50 100

TP delay [ns]

TVC(cbch) (2,4,3)

4000 [

3000

2000

1000

AT 1 nuiL4o/e+u4 /25
po 4221+ 0.0
pl -36.45+ 0.00

TP delay [ns]

TVC(c,b ch) (2 4,7

4000 (S

3000

2000

1000 [~

Ui as e+ud [ 25
po 4227+ 0.0
pl -36.41+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (2,4,

4000 [ue.

3000

2000

1000

T asze+u4/25
po 4282+ 0.0
p1 -37.69+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 4 15

4000 [,

3000

2000

1000

- i syze+ud [ 25
pO 4238+ 0.0
-35.16 + 0.00

TP delay [ns]



TVC(cbch) (2,5,0

4000

3000

2000

1000

A~ 1L usse+u4 /25
- po 4215+ 0.0
p1 -35.93 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,54

4000

3000

2000

1000

- Ui S19e+U4 [ 25
e po 4189+ 0.0
pl -36.48 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2 5,8

4000

3000

2000

1000

0

- Tsse+0d | 25
po 4215+ 0.0
p1 -34.57 + 0.00

0

TP delay [ns]

TVC(Cbch) (2, 5 12

4000

3000

2000

1000

- 3849 /25
pO 4233+ 0.0
pl -34.94+ 0.00

P B S S
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51

X 1 Oaae+ud | 25
e, po 4210+ 0.0
pL -35.47 £ 0.00

TP delay [ns]

TVC(c,b ch) (2 55

-1 nui 4z4e+04 [ 25
- pO 4200+ 0.0
p1 -37.09+ 0.00

TP delay [ns]

TVC(c,b ch) (2 59

=, d17e+04 1 25
- pO 4240+ 0.0
pL -34.58+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 5 13

T inaizive+ud [ 25
= pO 4241+ 0.0
p1 34,11+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (2,52)

T Luve+ud /25
_- pO 4222+ 0.0
- pl -36.67 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,56

-1 nur bsze+u4 [ 25
4203+ 0.0
-36.1+ 0.0

TP delay [ns]

TVC(eb,oh)=(2, 5, 10

- 1 nuizuZze+04 | 25
E- pO 4252+ 0.0
[ p1 -35.08:+ 0.00

TP delay [ns]

TVC(cbch) (2,514

1000

-1 i z34e+04 [ 25
- pD 4248+ 0.0
[ pl -35.02 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,3

A~ 1 nuiL, 130e+ud [ 25
- po 4223+ 0.0
pL -36.85+ 0.00

TP delay [ns]

TVC(c,b ch) (2 57

- nui b13e+04 / 25
- pO 4211£ 0.0
p1 -36.26+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 5

T bdbe+l}4/25
po 4257+ 0.0
p1 -34.53+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 5 15

S rna 1lze+ud [ 25
o, pO 4234+ 0.0
pL -34.78+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,6,0

AT 1nuizsse+ud /25
' po 4199+ 0.0
p1 -36.16 + 0.00

1
50 100

TP delay [ns]
TVC(cbch) (2 6,4)
-1 nuiLou4e+ud / 25
e, pO 4212+ 0.0
p1 -35.49 ::‘
- C |
1 1
50 100
TP delay [ns]
TVC(c,b ch) (2, 6 8

TnuiLb/ (e+U4 [ 25
pD 4231+ 0.0
pl -37.73+ 0.00

0

TP delay [ns]

TVC(cbch) (2,6,12

T L s3pe+u4 / 25
pO 4265+ 0.0
pl -36.54 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1

AT rnuiiyie+ud [ 25
' po 4195+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

=1 nui 2u8e+u4 [ 25
pO 4215 0.0
pL -35.18 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 6,9

~ 1 nuig.aspe+ud 25
po 4269+ 0.0
pl -38.95+ 0.00

1
50 100

TP delay [ns]

TVC(c,b Ch) (2, 6 13

T inai s43e+u4 / 25
pO 4261+ 0.0
pl -36.15+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

0

4000

2000

TVC(cbch) (2,6,2)

K™ 1 nuiLuyoe+u4 / 25
_- po 4209+ 0.0
o pl -35.55+ 0.00

3000

TP delay [ns]

TVC(cbch) (26,6

- i 118e+04 / 25
- pO 4220+ 0.0
[ pl -34.65 + 0.00

3000

TP delay [ns]

TVC(cbch) (2, 6 10

- ze+04 /25
pO 4275 0.0
pl -38.65+ 0.00

TP delay [ns]

TVC(cbch) (2,614

1000

T sz4e+04 [ 25
- pD 4266+ 0.0
L pl -36.33+ 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3

AT 1L izve+ud [ 25
= po 4214+ 0.0
pl -35.18+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,7

S rnan Lure+ud | 25
- pO 4225+ 0.0
-33.7+ 00

TP delay [ns]

TVC(c,b ch) (2, 6

T, /54e+u4/25
- pO 4271 0.0
pl -37.96 + 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (2, 6 15

-1 nuiLusye+ud / 25
- pO 4261+ 0.0
-35.91+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

TVC(cbch) (2,7,0)

T 1sae+ud /25
4201+ 0.0
p1 -36.27 + 0.00

1
50 100

TP delay [ns]
TVC(cbch) (2 7,4)
T UL 45/e+04 / 25
F=. pO 4188+ 0.0
pl -34.92+ 0.00
e -
1 1
50 100
TP delay [ns]
TVC(cbch) (2,7,8)
T rnuzbole+ud [ 25
= pD 4212+ 0.0
pl -35.42+ 0.00

1
0 50 00

TP delay [ns]
TVC(cbch) (2,7,12)
T rnuiLgase+u4 / 25
2000 pO 4223+ 0.0
pl -36.63 + 0.00

3000

2000

1000

TP delay

L n n n n 1 n
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,1)

. po

AL 4L ie+Ud ] 25
4208+ 0.0
pL -36.73+ 0.00

TP delay

TVC(c,b ch) (2 7,5

[ns]

“nun1.44e+04 [ 25
4190+ 0.0
pl -34.95+ 0.00

50 150
TP delay

TVCebeh)=(2,7, 9

[ns]

-1 nuw 3bobe+ud / 25
4224+ 0.0
-34.8+ 0.0

TP delay

TVC(c,b Ch) (2, 7 13

= pO

[ns]

T nuiLo3oe+ud / 25
4214+ 0.0
p1 -35.67 + 0.00

TP delay

P R T
50 100

[ns]

4000

3000

2000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(cbch) (2,7,2)

. po

X~ 1L So1e+U4 / 25
4220% 0.0
p1 -37.79+ 0.00

TP delay

TVC(cbch) (2,7,6

pO
p1

[ns]

T L4 /e+04 [ 25
4218+ 0.0
-35.49 + 0.00

TP delay

TVC(ebeh)=(2, 7, 10

= 90

[ns]

1 nuiz.4u3e+04 / 25
4225+ 0.0
p1 -35.45 % 0.00

TP delay

TVC(Cbch) (2, 7 14

ur

= PD

[ns]

Al BUbl/ 25
4221+ 0.0
pl -36.07 + 0.00

TP delay

P R T
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,3)

e po

A~ 1 nuiL330e+U4 [ 25
4223+ 0.0
pL -36.64 + 0.00

TP delay

TVC(c,b ch) (2 7,7

e pO

[ns]

- nu /zoe+u4 [ 25
4214+ 0.0
pl -35.41+ 0.00

TP delay

TVC(c,b ch) (2,7,

. pO

[ns]

T azue+u4/25
4243+ 0.0
pl -35.52 + 0.00

TP delay

TVC(c,b ch) (2, 7 15

= pO

[ns]

- i ploe+ud [ 25
4229+ 0.0
p1 -36.49 + 0.00

TP delay

PR IR T
50 100

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,8,0)

pO

A1 3yie+ud /25
= PO 4216+ 0.0
p1 -35.39+ 0.00
1 1
50 100
TP delay [ns]

TVC(cbch) (2,84)
s rna 94U3/25
4230+ 0.0
pl -34.76 + 0.00

TP delay

TVC(cbch) (2 8,8

pD

[ns]

-1 z48e+04 | 25
4232+ 0.0
pl -36.22 + 0.00

0

1
50 00

TP delay

TVC(cbch) (2,812

pO

[ns]

- i 357e+04 /25
4267+ 0.0
p1 -36.21+ 0.00

PR ISR B
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,1)

F.... po

AT nuiL1y3e+u4 [ 25
4232+ 0.0
p1 -36.08 + 0.00

TP delay

TVC(cbch) (2,85

nut

- pO

[ns]

- yvz4 /25
4228+ 0.0
pl -33.95+ 0.00

TP delay

TVC(c,b ch) (2 8,9

pO

[ns]

T nup.anze+u4 [ 25
4239+ 0.0
p1 -35.46 £ 0.00

1
50 00

TP delay

TVC(c,b Ch) (2, 8 13

[ns]

Tinuizyle+ud [ 25
4248+ 0.0
p1 -36.36 + 0.00

TP delay

M R B
50 100

[ns]

4000
3000
2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,8,2)

po

pl

X~ 1L 338e+04 [ 25
4236+ 0.0
-35.39+ 0.00

TP delay

TVC(cbch) (28,6

pO

[ns]

T nuiLUroe+u4 / 25
4246+ 0.0
pl -34.39 + 0.00

TP delay

TVC(eb,oh)=(2, 8, 10

pO

[ns]

- 1 Ui gbze+Ud | 25
4256+ 0.0
p1 -34.99+ 0.00

TP delay

TVC(cbch) (2,8 14

pD

[ns]

= 1 i z5ye+u4 [ 25
4265+ 0.0
pl -36.26 + 0.00

P R T
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,3)

x- L OLie+ud | 25
4225+ 0.0
p1 -33.91% 0.00

. po
[ C =29.49 [ps/ch] ™,
50 160
TP delay

TVC(c,b ch) (2 8,7

- pO

[ns]

-1 nui Zoge+u4 / 25
4259+ 0.0
pl -35.64 + 0.00

TP delay

TVC(c,b ch) (2, 8

pO
pl

[ns]

T 4b4e+u4/25
4279+ 0.0
-35.82+ 0.00

TP delay

TVC(c,b ch) (2, 8 15

[ns]

- slge+ud [ 25
4275+ 0.0
p1 -37.57 + 0.00

TP delay

M B SR B
50 100

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,9,0

AT 1nun ssse+ud /25
P po 4157+ 0.0
pl -35.28+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,94

-1 4a8e+04 25
- pO 4203+ 0.0
p1 -37.47+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 9,8

1 nuz5yge+u4 | 25
= po 4206+ 0.0
pl -35.63+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,9, 12

— 'HluuouewA/ZS
- PO 4203+ 0.0
pl -36.63+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,91

AT nuiLss/e+u4 [ 25
P, po 4172+ 0.0
pl -37.33+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,5

- nui /14e+04 [ 25
E pO 4208+ 0.0
pL -38.12:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 9,9

T nu.a5ze+u4 [ 25
= po 4219+ 0.0
pl -35.36 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,9,13

Tinuiasie+ud [ 25
peee 4198+ 0.0
-36.11 + 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (2,9,2)

K™ 1 nuidoze+04 /25
i po 4179+ 0.0
+ pl -35.15+ 0.00

3000

TP delay [ns]

TVC(cbch) (29,6

- rnuiby1e+u4 / 25
- pO 4202+ 0.0
[ pl -36.16 + 0.00

TP delay [ns]

TVC(cbch) (2, 9 10

T zaze+04 /25
- po 4240+ 0.0
- pl -35.38 + 0.00

TP delay [ns]

TVC(cbch) (2,914

— T grse+ud [ 25
= pD 4208+ 0.0
F pl -37.09+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3

AT 1L osse+ud [ 25
poes, po 4162+ 0.0
p1 -34.94+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,7

~nuai /ure+u4 [ 25
4231+ 0.0
-38.1+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 9

T, /Ude+U4/25
= po 4237+ 0.0
pl -35.97 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,9,15

T nui sbse+ud / 25
= pO 4203+ 0.0
p1 -36.33+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=( 2, 10,0)

T AT w519 /25
™, po 4167+ 0.0
pl -35.97 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,104

T a1 /ze+u4 [ 25
- pO 4197+ 0.0
pl -35.19+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2, 10 8

1 nuiLgEoe+U4 / 25
- PD 4221+ 0.0
pl -36.35+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,10,12

TnuiLsroe+u4 / 25
- PO 4240+ 0.0
pl -35.62 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,10,1)

AT 1nuiLzrye+ud [ 25
PO 4169+ 0.0
pl -34.78 + 0.00

1
100

TP delay [ns]

TVC(c, bch) (2,10,5

- izl re+u4 [ 25
pO 4197+ 0.0
p1 -34.48+ 0.00

1(;0
TP delay [ns]

TVC(c,b ch) (2,10,9

T inug. rble+ud / 25
DO 4245+ 0.0
pl -35.67 + 0.00

1
100

TP delay [ns]

TVC(cbch) (210,13

T oyre+u4d [ 25
PO 4235+ 0.0
pl -36.4 + 0.0

PR
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (2,10,2)

X~ zire+U4 /25
po 4193+ 0.0
pl -36.83 + 0.00

1
100

TP delay [ns]

TVC(cbch) (2.10,6

1000

=1 nuigz49e+04 | 25
pO 4230+ 0.0
pl -36.02:+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (2,10, 10

©1nuiLyage+u4 | 25
DO 4276+ 0.0
pl -36.63 + 0.00

1
100

TP delay [ns]

TVC(cbch) (2,10, 14

- 7e+04 ] 25
PD 4236+ 0.0
pl -35.67 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,10,3)

KA Twr0.1/25
PO 4194+ 0.0
pl -36.16 + 0.00

1
100

TP delay [ns]

TVC(c, bch) (2,10,7

-1 nui 3bYe+u4 / 25
PO 4227+ 0.0
pL -35.88 + 0.00

1(;0
TP delay [ns]

TVC(eh.ch)=(2,10, 11

T nuiL ryge+u4 [ 25
pO 4280+ 0.0
pl -37.53+ 0.00

1
100

TP delay [ns]

TVC(cbch) (2,10,15

T 1gbe+u4 / 25
pO 4231£ 0.0
pl -34.58 + 0.00

PR
100

TP delay [ns]



4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

AT 1nui14ze+04 /25
.. po 4177+ 0.0
p1 356+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (2,11,4

- 1 nuiLuyve+ud / 25
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- pO 4207+ 0.0
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1
50 100

TP delay [ns]

TVC(C, bch) (3,215

Tonan 1ae+ud /25
F po 4234% 00
-35.39+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,3,0)

ATz e+04 /25
4189+ 0.0
-35.81+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,34

- rnuiL19ve+u4 / 25
pO 4211% 0.0
p1 -34.32:+ 0.00

TP delay [ns]

TVC(cbch) (3 3,8
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pl -35.32+ 0.00
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- nui 31be+04 / 25
pO 4223+ 0.0
p1 -35.45+ 0.00

50 1(;0
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TVC(c,b ch) (3 3,9

T nue.z/ye+ud [ 25
= pO 4221+ 0.0
p1 -34.82+ 0.00
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= po 4250+ 0.0
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p1 -34.64+ 0.00

TP delay [ns]
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pO 4249+ 0.0
p1 -34.69+ 0.00
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T b/ée+l]4/25
= pO 4251% 0.0
pl -36.78 + 0.00
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pO 4239+ 0.0
p1 -36.58 + 0.00
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- pO 4233+ 0.0
p1 -36.84 + 0.00
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TVC(c,b ch) (3 4,9

-1 nug. 1bbe+ud / 25
= po 4230+ 0.0
pl -35.02 + 0.00

1
50 100
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TVC(C, bch) (3,4,13
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- pO 4223+ 0.0
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- po 4187+ 0.0
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TVC(cbch) (34,6

=i 3vpe+04 / 25
- pO 4241 0.0
[ pl -37.52+ 0.00
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TP delay [ns]

TVC(cbch) (3, 4 10

T 1nuz138e+04 / 25
- po 4240+ 0.0
- pl -35.95+ 0.00
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- pO 4248+ 0.0
pL -36.09+ 0.00
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T, /bze+u4/25
- pO 4245+ 0.0
pl -35.07 + 0.00
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TVC(C, bch) (34,15

T naisu/e+ud /25
- po 4226+ 0.0
p1 -36.25+ 0.00
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pO 4214+ 0.0
p1 -35.48:+ 0.00
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T g 31ze+u4 / 25
pO 4240+ 0.0
pl -35.09 + 0.00
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TP delay [ns]
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T rnuiLbz1e+04 /25
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~nuiZ/ye+u4 [ 25
pO 4204+ 0.0
p1 -34.81% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

T nup. 713e+04 / 25
po 4270+ 0.0
pl -35.48 + 0.00
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po 4282+ 0.0
pl -36.89+ 0.00
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1000

~ Ui 455e+04 [ 25
- pO 4207+ 0.0
[ 345+ 0.0

TP delay [ns]
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©1nuiz.49ze+04 | 25
po 4284+ 0.0
pl -35.05+ 0.00

TP delay [ns]
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- pD 4282+ 0.0
L pl -36.94 + 0.00
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-1 nui 4ube+u4 / 25
- pO 4220+ 0.0
p1 -34.48+ 0.00

TP delay [ns]
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T yz::e+u4/25
po 4290+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(C, bch) (3,5,15

T nuiazoe+ud [ 25
- pO 4295+ 0.0
p1 -37.03+ 0.00

P B S S
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TP delay [ns]
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-1 Ui 340e+04 / 25
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p1 -36.84::‘
e -
1 1
50 100
TP delay [ns]
TVC(c,b ch) (3, 6 8

1 nuzpyde+u4 | 25
4229+ 0.0
-36.7 + 0.0
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4000 [ pO 4222+ 0.0
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TP delay

TVC(c,b ch) (3 6,5

- pO

[ns]

- nun 373e+04 / 25
4256+ 0.0
pl -37.66 + 0.00

TP delay

TVC(c,b ch) (3 6,9

[ns]

~ 1 nug.b4se+u4 25
4256+ 0.0
pl -36.35+ 0.00

1
50 100

TP delay

TVC(c,b Ch) (3, 6 13

[ns]

Tinaizoe+ud [ 25
4233+ 0.0
pl -36.03+ 0.00
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TP delay [ns]
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“rnuiL4zze+04 [ 25
- pO 4259+ 0.0
L pl -37.04::‘
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1 1
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© 1 nuiLysze+u4 | 25
4250+ 0.0
-35.44 + 0.00
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TVC(cbch) (3,6,14

[ns]

© i su4e+u4 / 25
4246+ 0.0
pl -36.63+ 0.00
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4265+ 0.0
pl -36.89 + 0.00
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50 100
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T nai sose+ud [ 25
4239+ 0.0
p1 -35.74 + 0.00

TP delay

P B S S
50 100
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- i z2u3e+04 / 25
4204+ 0.0
-35.6+ 0.0
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TP delay [ns]
TVC(cbch) (3 7,8

T i, ruze+u4 | 25
PD 4213+ 0.0
pl -37.19+ 0.00

TP delay [ns]
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T 14e+u4 /25
pO 4225+ 0.0
pl -34.82+ 0.00
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TVC(c,b ch) (3 7,5

-1 nui 318e+u4 / 25
4194+ 0.0
-34.9 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 7,9

~ 1 nu 38Ye+u4 [ 25
po 4240+ 0.0
pl -36.69 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,7,13

Tinui zgle+ud [ 25
= pO 4209+ 0.0
pl -35.12+ 0.00
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3000
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- pO 4212+ 0.0
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TP delay [ns]
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1000
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o=, po 4255+ 0.0
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TVC(c,b ch) (3 7,7

- 1nui4u/e+u4 [ 25
- pO 4226+ 0.0
pL -35.78+ 0.00
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TP delay [ns]

TVC(c,b ch) (3, 7

T a4=e+u4/25
e pO 4254+ 0.0
p1 -37.11+ 0.00
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TP delay [ns]

TVC(C, bch) (3,7,15

T nuiLzyoe+ud [ 25
- po 4216+ 0.0
p1 -35.54 + 0.00

P B S S
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TP delay [ns]
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po 4249+ 0.0
pl -38.39+ 0.00

1
50 100

TP delay [ns]
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pO 4238+ 0.0
pl -36.29 + 0.00
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p1 -35.28+ 0.00

50 1(;0
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e, po 4266+ 0.0
pl -37.73+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 8 13

T nui syse+ud | 25
- pO 4234+ 0.0
pl -36.19+ 0.00
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TVC(c,b ch) (3 8,7

-1 nui 3vpe+u4 / 25
- pO 4239+ 0.0
p1 -36.24 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 8

T, 1u/e+u4/25
o=, po 4276+ 0.0
pl -38.22+ 0.00
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T nai s3ze+u4 [ 25
4242+ 0.0
-35.81+ 0.00
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- pO 4208+ 0.0
pl -35.02:+ 0.00
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TP delay [ns]

TVC(cbch) (3 9,8

©1nuzgose+u4 / 25
= po 4215+ 0.0
p1 -34.97 + 0.00
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50 100

TP delay [ns]

TVC(cbch) (3,9,12
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4270+ 0.0
-36.61+ 0.00
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- pO 4216+ 0.0
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~ i 19ve+ud / 25
4214+ 0.0
pl -36.09 + 0.00

TP delay

PR SR T
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,2,3)

e, po

x- 1 L Zoae+U4 | 25
4206+ 0.0
p1 -36.82:+ 0.00

TP delay

TVC(c,b ch) (5 2,7

e pO

[ns]

-1 nui bgye+u4 / 25
4219+ 0.0
pl -36.13+ 0.00

50 1(;0
TP delay

TVC(c,b ch) (5, 2

. pO

[ns]

T bbée+l}4/25
4247+ 0.0
pl -36.34+ 0.00

1
50 100

TP delay

TVC(c,b ch) (5, 2 15

[ns]

T nai 1sye+ud [ 25
4208+ 0.0
-35.43+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,3,0

A7 1 nuis obze+u4 / 25
P, po 4172+ 0.0
p1 -35.14+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (53,4

-1, 316e+04 / 25
P, pO 4186+ 0.0
pl -36.33+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 3,8

T rnuzg3e+u4 [ 25
= po 4220+ 0.0
pl -36.87 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5,312

T L syse+u4 / 25
= po 4231+ 0.0
pl -37.06 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,3, 1

AT 1 nus.obye+ud [ 25
=N po 4171% 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(c,b ch) (5 3,5

-1 nui 3z24e+04 [ 25
e, pO 4191% 0.0
pL -36.91% 0.00

TP delay [ns]

TVC(c,b ch) (5 3,9

-1 nup.Usye+ud 25
= po 4228+ 0.0
pl -36.77 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (53,13

T nui ozve+ud / 25
= pO 4219+ 0.0
pl -36.95+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (5,3,2)

A7 1 nuis ruye+u4 / 25
i po 4192+ 0.0
L pl -36.49 + 0.00

3000

TP delay [ns]

TVC(cbch) (53,6

1000

©1nuiL449e+04 | 25
- pO 4223+ 0.0
- pl -37.18 + 0.00

TP delay [ns]

TVC(cbch) (5, 3 10

1 nuzz9pe+u4 | 25
= po 4239+ 0.0
- pl -37.21+ 0.00

TP delay [ns]

TVC(cbch) (5,3 14

Tz e+u4 /25
- pD 4226+ 0.0
[ p1 -37.39+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,3,3

AT s szae+U4 [ 25
po 4191+ 0.0
p1 -34.82+ 0.00

TP delay [ns]

TVC(c,b ch) (5 3,7

-1 nui 480e+04 / 25
- pO 4215+ 0.0
pL -36.09+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 3

T b/::e+l]4/25
- pO 4248+ 0.0
pl -36.52 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (53,15

T nuias0e+u4 / 25
= po 4235+ 0.0
p1 -37.3+ 0.0

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,4,0

A7 nui oy1e+u4 /25
' po 4174+ 0.0
pl -35.75+ 0.00

1
50 100

TP delay [ns]
TVC(cbch)(544) -
11 4u3e+u4 / 25
= pO 4202@
pl -37.06 + 0.00
[ C=26.98 [ps/c ]
5(‘) 100
TP delay [ns]
TVC(c,b ch) (5 4,8

T L, rs8e+u4 / 25
po 4238+ 0.0
pl -37.85+ 0.00

0

TP delay [ns]
TVC(Cbch) (5, 4 12

T 1dae+04 /25
pO 4215+ 0.0
pl -34.94+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (54,1

AT 1L sooe+ud [ 25
oo, po 4172+ 0.0
pl -36.2+ 0.0

TP delay [ns]

TVC(c,b ch) (5 4,5

-1 nui 483e+04 / 25
. pO 4216+ 0.0
pL -37.98+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5 4,9

~ 1 nug. roye+ud 25
- po 4252+ 0.0
pl -36.42 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (54,13

T nui syve+ud / 25
= pO 4229+ 0.0
p1 -35.6 + 0.0

PR SRS S
50 100

TP delay [ns]

4000

2000

4000

3000

2000

4000

3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (5,4,2)

1000

A~ 1nuoize+ud /25
P, po 4200+ 0.0
o pl -358+ 0.0

3000

TP delay [ns]

TVC(cbch) (54,6

1000

-1 nuiL459e+04 [ 25
- pO 4217+ 0.0
[ pl -37.88+ 0.00

TP delay [ns]

TVC(cbch) (5, 4 10

Tz z45e+04 | 25
-, po 4258+ 0.0
F pl -36.34 + 0.00

TP delay [ns]

TVC(cbch) (54,14

T szse+u4 [ 25
4221+ 0.0
-34.6 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,4,3

AT rnuiLo1se+ud [ 25
e, po 4206+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(c,b ch) (5 4,7

- nui /48e+04 [ 25
4213+ 0.0
-36.9 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 4

T ba::e+u4/25
4265+ 0.0
-37.6 £ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (5.4,15

T nuioble+ud [ 25
= pO 4221+ 0.0
p1 -35.28 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,5,0

K™ 1 nui zoye+ud / 25
P, po 4185+ 0.0
pl -36.48 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (55,4

Sy 111e+u4 / 25
- pO 4187+ 0.0
pl -36.87:+ 0.00

TP delay [ns]

TVC(cbch) (5 58

©1nug.Uebe+u4 / 25
- pO 4241% 0.0
pl -37.52+ 0.00

TP delay [ns]

TVC(cbch) (55,12

T i s4se+u4 / 25
= po 4230+ 0.0
pl -35.37 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5, 1

AT rnuLsive+ud [ 25
F . po 4192+ 0.0
pl -38.02+ 0.00

TP delay [ns]

TVC(c,b ch) (5 55

-1 nui 31ee+u4 / 25
- pO 4192+ 0.0
pL -37.01% 0.00

TP delay [ns]

TVC(c,b ch) (5 59

~ 1 nug1uze+ud / 25
= po 4266+ 0.0
pl -37.53 + 0.00

TP delay [ns]

TVC(C, bch) (5,5,13

T nuiL1vae+ud / 25
= pO 4229+ 0.0
pl -34.78 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (5,5,2)

TP delay [ns]

TVC(cbch) (5,56

A7 nun 344e+04 /25
= po 4204+ 0.0
L pl -37.01+ 0.00

3000

-1 nur 359e+04 / 25
- pO 4203+ 0.0
[ pl -36.29+ 0.00

TP delay [ns]

TVC(cbch) (5, 5 10

1000

0

T 1Lyse+ud /25
-, po 4272+ 0.0
- pl -37.2+ 0.0

TP delay [ns]

TVC(cbch) (55,14

T szoe+u4 [ 25
. pD 4242+ 0.0
L pl -36.03+ 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5,3

AT rnuiLzare+ud [ 25
poee, po 4210+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(c,b ch) (5 57

S 1386404 [ 25
e, pO 4207+ 0.0
pL -36.21% 0.00

TP delay [ns]

TVC(c,b ch) (5, 5

T bb4e+U4/25
- po 4267+ 0.0
pl -37.16+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (5,5,15

T nui syae+ud / 25
4230+ 0.0
-35.01+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,6,0)

A7 1 nui suse+u4 / 25
4183+ 0.0
-37.71+ 0.00

50 100

TP delay [ns]

TVC(cbch) (56,4

-1 buge+ud [ 25
= pO 4197+ 0.0
pl -37.21% 0.00

TP delay [ns]

TVC(cbch) (5 6,8

© L g14e+04 / 25
po 4218+ 0.0
pl -36.16 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5,6,12

T L 5Ee+U4 / 25
pO 4234+ 0.0
pl -36.24 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.6,1)

A1 L dyae+Ua | 25
F o po 4199 0.0
pL -38.41% 0.00

TP delay [ns]

TVC(c,b ch) (5 6,5

“nu z8e+u4 [ 25
e pO 4190+ 0.0
pL -37.18+ 0.00

TP delay [ns]

TVC(c,b ch) (5 6,9

1 nu.B45e+U4 | 25
= po 4226+ 0.0
pl -36.25+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (5.6,13

Tinaizie+ud [ 25
= pO 4223+ 0.0
pl -36.28 + 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (5,6,2)

A7 1 nui4g0e+04 / 25
F po 4212+ 0.0
o pl -38.53+ 0.00

3000

TP delay [ns]

TVC(cbch) (56,6

- rnuz use+u4 [ 25
- pO 4196+ 0.0
3 pl -37.17+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 6 10

T rnuzz31e+u4 /25
= po 4244+ 0.0
L pl -36.89 + 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (56,14

©1nuiL4sse+u4 [ 25
- pD 4212+ 0.0
[ p1 -35.88 + 0.00

3000

PR SR T
50 100

TP delay [ns]

TVC(cbch) (5,6,3)

3000

2000

1000

AT 1 nuiL4/9e+u4 [ 25
4000 [ po 4215+ 0.0
pl -37.89 + 0.00

TP delay [ns]

TVC(c,b ch) (5 6,7

4000 (R

3000

2000

1000

- 1nu 120e+04 / 25
pO 4207+ 0.0
p1 -36.47 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 6

4000 [ue.

3000

2000

1000

T buze+u4/25
po 4246+ 0.0
pl -36.15+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (5.6, 15

4000 [,

3000

2000

1000

T nuiplve+ud [ 25
pO 4230+ 0.0
p1 -35.99+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,7,0

X~ 1 4o4e+04 [ 25
[, LY 4201 0.0
pl -36.38+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (57,4

=1L uBbe+u4 / 25
[, pO 4212+ 0.0
pl -37.1% 0.0

TP delay [ns]

TVC(cbch) (5 7,8

©1nuz.40ze+04 | 25
- PD 4226+ 0.0
pl -36.49 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (57,12

T nuiLuse+ud / 25
- PO 4250+ 0.0
pl -35.77 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (57,1

A7 1 nuiLboye+u4 [ 25
[, PO 4214+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(cbch) (57,5

Trna yBu8 / 25
- DU 4214+ 0.0
Pl -36.32%0.00

TP delay [ns]

TVC(c,b ch) (5 7,9

S Hm441:13+u4/25
F pO 4258+ 0.0
pL -36.49 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (5.7,13

T 4yoe+u4 [ 25
= pO 4255+ 0.0
-36.31+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000
3000

2000

4000
3000
2000

1000

0

4000

3000

2000

1000

1000

TVC(cbch) (5,7,2)

X~ 1L sy re+U4 /25
e po 4206+ 0.0
I pl -36.4+ 0.0

3000

TP delay [ns]

TVC(cbch) (57,6

© 1 nun 335e+04 / 25
4220+ 0.0
-36.4+ 0.0

TP delay [ns]

TVC(cbch) (5, 7 10

© 1z 184e+04 [ 25
DO 4255+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(cbch) (57,14

- i 28 1e+04 ] 25
PD 4254+ 0.0
pl -35.48 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,7,3

AT 1 nuiLbule+u4 / 25
- po 4226+ 0.0
pL -36.48+ 0.00

TP delay [ns]

TVC(c,b ch) (5 7,7

/”UILLSE+U4/25
F= PO 4231% 0.0
-35.3+ 0.0

TP delay [ns]

TVC(cbch) (57,11

- yage+u4 [ 25
4257+ 0.0
-36.8 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (57,15

T nan ssse+ud [ 25
4255+ 0.0
-35.31+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(5,8,0)
T Ao

u v/(8/25
po 4213+ 0.0
p1 -35.13+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 4

S i 104e+04 /25
po 4194 0.0
p1 -34.85+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 8

T 3.zze+04 /25
PO 4224+ 0.0
pl -35.96 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 12

T 1 zoe+ud /25
po 4264+ 0.0
pl -35.61+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5,8,1)
T A

AL v431/25
- po 4197+ 0.0
p1 -35.11+ 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 8,5

= nuiLZ13e+04 / 25
== po 4197+ 0.0
pl -36.33+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 8,9

Tinun.13/e+u4 /25
= po 4252+ 0.0
-36.9 + 0.0

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 13

-1 1 4be+ud | 25
e, po 4268+ 0.0
pl -36.47 + 0.00

PR SRS S
50 100

TP delay [ns]

4000
3000

2000

1000

4000
3000

2000

1000

4000
3000

2000

1000

0

4000
3000

2000

1000

TVC(c,b,ch)=(5, 8, 2)
T X

S T yua 25
po 4201+ 0.0
p1 -35.49 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 6

-1 nuiz30e+u4 / 25
po 4221 0.0
pl -35.63+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 10

1 nuiLbage+u4 | 25
po 4264+ 0.0
pl -35.89+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 14

X~ 1 nar ):1158/25
po 4249+ 0.0
pl -34.6+ 0.0

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5, 8, 3)
T A

S 7 o6/ 25
po 4229+ 0.0
pL -36.37 + 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 8, 7

= 1 nui 1age+ud | 25
= po 4216+ 0.0
pl -35.22+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 11

~ 1 nui v4ae+04 / 25
- po 4276+ 0.0
pl -36.85+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 15

T nai13ae+04 /25
= po 4240+ 0.0
p1 35+ 0.0

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(5,9,0)

T AT You3 /25
b, po 4231+ 0.0
p1 -36.64 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (59,4

T 13/e+04 / 25
- pO 4215+ 0.0
pl -36.57:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 9,8

1 nuiLgove+u4 / 25
= po 4219+ 0.0
pl -35+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (5,9,12

T sioe+u4 / 25
= po 4245+ 0.0
pl -35.98 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,9,1)

AT rnuiLli/e+ud /25
o=, po 4229+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(c,b ch) (5 9,5

-1 nuiL b /e+u4 / 25
- pO 4223+ 0.0
pL -36.03+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5 9,9

T nun.ap3e+u4 / 25
- pO 4240+ 0.0
p1 -34.52+ 0.00

TP delay [ns]

TVC(C, bch) (59,13

Tinaizrse+ud [ 25
- pO 4246+ 0.0
pl -36.23+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

0

4000
3000
2000

1000

TVC(cbch) (5,9,2)

AT 1nuLurse+ud /25
__ po 4234+ 0.0
o pl -36.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (59,6

=1 nurL3u5e+04 / 25
- pO 4244+ 0.0
[ -37.41% 0.00

TP delay [ns]

TVC(cbch) (5, 9 10

©nuiLgy1e+u4 / 25
- pO 4240+ 0.0
- pl -33.62+ 0.00

TP delay [ns]

TVC(cbch) (59,14

T zse+u4 [ 25
4229+ 0.0
-34.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,9,3

AT 1 nuiLuyoe+u4 [ 25
e po 4254+ 0.0
pl -37.23+ 0.00

TP delay [ns]

TVC(c,b ch) (5 9,7

- 1nui48/e+04 / 25
- pO 4251+ 0.0
pL -37.29+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (5, 9

T b4ue+u4/25
= pO 4248+ 0.0
p1 -34.53+ 0.00

TP delay [ns]

TVC(C, bch) (59,15

T nui 1yve+ud [ 25
pO 4250+ 0.0
-35.563+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(cbch) (5.10,0)

~nuiLu4ye+ud [ 25
™, PO 4161+ 0.0
pl -35.32 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.10,4

- 1L zoge+ud / 25
pO 42131 0.0
pl -35.20  0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5,10,8

XT3 re+04 /25
F= LY 4220+ 0.0
pl -36.42 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5,10, 12

TinuiLuize+ud / 25
PO 4250+ 0.0
pl -36.59 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,10,1)

AT nuiL138e+U4 [ 25
- Y 4187+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(c, bch) (5,10,5

-1 nun zlge+u4d / 25
e, pO 4207+ 0.0
pL -35.00+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 10

T nug. r3ve+u4 / 25
- DO 4242+ 0.0
pl -36.43 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (510,13

T z33se+u4 [ 25
pO 4259+ 0.0
pl -36.12 + 0.00

PR SRS S
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(c,b,ch)=(5, 10, 2)

T AT 1nw B825/ 25
- po 4180+ 0.0
[ pl -34.95 + 0.00

TP delay [ns]

TVC(cbch) (5.10,6

1000

~ 1 nuiL 35ye+04 / 25
- pO 4228+ 0.0
3 PL_ -36:59+ 0.00

TP delay [ns]

TVC(cbch) (5, 10 10

Tz 1uze+u4 [ 25
- DO 4267+ 0.0
r pl -37.35+ 0.00

TP delay [ns]

TVC(cbch) (5.10, 14

~ i z44e+04 | 25
- po 4252+ 0.0
F pl -36.23 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,10,3)

AT nuiL135e+U4 / 25
= PO 4186+ 0.0
p1 -35.3+ 0.0

TP delay [ns]

TVC(c, bch) (5,10, 7

T 4z3e+u4 [ 25
- PO 4234+ 0.0
Pl 3575000

50 1(;0
TP delay [ns]

TVC(cbch) (5, 10 1

~ 1 nui o3ge+u4 / 25
- pO 4259+ 0.0
-35.9 + 0.0

TP delay [ns]

TVC(cbch) (5.10,15

Srna o lewud /25
- PO 4231 0.0
pl -35.76 + 0.00

P B S S
50 100

TP delay [ns]



TVC(cbch) (5,11,0) TVC(cbch) (5,11,1) TVC(cbch) (511,2) TVC(cbch) (5,11, 3)
A~ 1 1use+ud /25 A~ 1 1zye+ud | 25 7 yys6 / 25 A~ 1 usae+ud | 25
4000 e, PO 4166+ 0.0 4000 - po 4179+ 0.0 4000 __- pO 4186+ 0.0 4000 [ po 4185+ 0.0
pl -33.67 + 0.00 pl -33.53+ 0.00 : pl -33.32 0.00 pl -33.22+ 0.00

3000

-1 3000 - -1 3000 - -1 3000 - -1

2000 1 2000 - -1 2000~ -1 2000

1000

. wol- C = 29.82 [ps/ch] . wol- C = 30.02 [ps/ch] . wol- C = 30.10 [ps/ch] .

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (511,4 TVC(cbch) (5 11,5 TVC(cbch) (511,6 TVC(cbch) (511,7

S AA)SENJA 125 Trnarg d/)ze+04/25 T bAle+U4 125 SRALELN bL242+U4/25
4000 e, pO 4228+ 0.0 4000 Fem, pO 4219+ 0.0 4000 fe, pO 4238+ 0.0 4000 s, pO 4251% 0.0
Pl 3555000 Pl -36.04%0.00 [ PL_ -36.95% 0.00 Pl -36.56+ 0.00
3000 [ g 3000 [ E 3000 ] 3000 [ g
2000~ - 2000 [ E 2000 ] 2000 [ -
1000 C ] 1000 C 7 wool- C = 27.06 [ps/ch 7 wool- C = 27.35 [ps/ch ]
- - F - 1 -
1 1 1 1 1 1 1 1
0 EY 00 0 50 100 0 50 00 0 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.eh)=(5, 11,8 TVC(eh.eh)=(5, 11, 9 TVC(e.b,ch)=(5, 11, 10 TVC(e.beh)=(5, 11, 11

1 nuiz.4u4e+04 [ 25 -1 nug 5ube+u4 / 25 X7 1 nuiLy4ze+04 / 25 T nan 1 oge+ud [ 25
4000 =, PD 4226+ 0.0 4000 fe, DO 4246+ 0.0 4000 F 4251+ 0.0 4000 fow, pO 4253+ 0.0
pl -36.78 + 0.00 pl -35.52 + 0.00 r -35.1+ 0.0 pl -35.84 + 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 -1 2000 -1 2000

1000 -1 1000

-1 1000 -1 1000

| 1 1 1 [ | 1 ] 1
% 50 00 0 50 100 0 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5.11, 12 TVC(cbch) (511,13 TVC(cbch) (5.11,14) TVC(cbch) (511,15

T L 4oe+ud /25 T nuiLayse+ud [ 25 T sie+ud /25 Tnuizoe+ud [ 25
4000 [, pO 4239+ 0.0 4000 o, pO 4237+ 00 4000 o, PD 4228+ 0.0 4000 o, pO 4226% 0.0
pl -36.7+ 0.0 pl -36.76 + 0.00 F pl -35.46 + 0.00 pl -35.38 + 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

PR RS SR B PR SR T
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (5, 12 0)

T Lrze+04 /25
P, pO 4183+ 0.0
pl -34.76 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.12,4

- 1L Zdbe+04 | 25
P, pO 4205+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(cbch) (5, 12 8

T nuiLbroe+u4 / 25
= pO 4201+ 0.0
pl -36.22 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5,12, 12

T i s44e+04 / 25
pO 4215+ 0.0
pl -36.12+ 0.00

PR RS SR B
50 100

TP delay [ns]

TVC(cbch) (5,12,1)

3000

2000

1000

AT 1nuiL1b/e+u4 [ 25
4000 [, po 4219+ 0.0
p1 -35.77+ 0.00

TP delay [ns]

TVC(cbch) (5,125

4000 S

3000

2000 -

1000 [~

~ 1 nui 349e+04 [ 25
pO 4208+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVCEeDeh)=(5, 12,9

4000

3000

2000

1000

T nugysze+ud [ 25
= po 4215+ 0.0
pl -36.61+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (512,13

4000 [,

3000

2000

1000

T naiazye+ud [ 25
= pO 4197+ 0.0
-35.61+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

0

4000 =,
3000
2000

1000

TVC(CbCh) (5,12,2)

K™ nuiioae+04 /25
__- po 4193+ 0.0
o pl -34.05+ 0.00

3000

TP delay [ns]

TVC(cbch) (5.12,6

-1 nui319e+04 / 25
- pO 4210 0.0
[ pl -36.31¢ 0.00

TP delay [ns]

TVC(cbch) (5, 12 10

1z zyge+u4 | 25
po 4242+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (512,14

~ i gove+u4 / 25
pD 4200+ 0.0
pl -35.58 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,12,3)

AT 1L suse+ud [ 25
P po 4196+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c, bch) (5,127

-1 nui 448e+04 / 25
- pO 4221+ 0.0
pL -36.71% 0.00

50 1(;0
TP delay [ns]

TVC(eheh)=(5, 12, 11

T nuiLoroe+u4 [ 25
po 4237+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(cbch) (512,15

- Tinai s4/e+04 /25
4205+ 0.0
-35.41+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 13 0)

Tz gore+u4 [ 25
o, pO 4292+ 0.0
pl -37.25+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.13,4

=1 i 3obe+04 / 25
4230+ 0.0
-36.4+ 0.0

50 10‘0
TP delay [ns]

TVC(c,b,ch)=(5, 13, 8

,8)
x- o va5/25
po 4270+ 0.0
pl -34.22+ 0.00

0

TP delay [ns]

TVC(cbch) (513,12

T z3e+ud /25
- po 4236+ 0.0
pl -35.15+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,13,1)

AT 1 suse+ud [ 25
e po 4284+ 0.0
pl -37.13+ 0.00

TP delay [ns]

TVC(c, bch) (5,135

- nui 3zbe+u4 [ 25
4218+ 0.0
-36.1+ 0.0

TP delay [ns]

TVC(c,b ch) (5, 13

~ 1 nuiz.y4ne+ud [ 25
- po 4305+ 0.0
pl -35.88 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (513,13

~ 1 nuiLybse+ud / 25
- pO 4239+ 0.0
-35.31+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(CbCh) (5,13,2)

AT 1nug (s3e+04 /25
e, po 4299+ 0.0
[ pl -37.57 + 0.00

3000

TP delay [ns]

TVC(cbch) (5.13,6

T b 3e+u4 [ 25
po 4248+ 0.0
pl -37.26+ 0.00

TP delay [ns]

TVC(cbch) (5, 13 10

Tz e+u4 [ 25
- po 4317+ 0.0
- pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (5.13, 14

1000

T 1sze+u4 [ 25
- pD 4244+ 0.0
L pl -35.48 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,13,3)

A- 1 iz, 333e+U4 | 25
- po 4309+ 0.0
pL -36.72.+ 0.00

TP delay [ns]

TVC(c, bch) (5,137

~nun1.49e+04 [ 25
- pO 4261+ 0.0
p1 -37.34+ 0.00

50 100
TP delay [ns]

TVC(cbch) (5, 13 11)

ur bUB4 [ 25
po 4321+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(cbch) (513,15

T nai suse+ud / 25
- pO 4252+ 0.0
p1 -35.55+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 14 0)

© L ysve+u4 | 25
P oeea. pO 4241+ 0.0
pl -36.53+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 14, 4

. 4)
x- o us18/25
po 4246+ 0.0
pl -36.23+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 14 8

1 nuzpape+u4 | 25
4206+ 0.0
-35.4 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (514,12

T rnuiLsure+u4 / 25
- po 4286+ 0.0
pl -37.46 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,14,1)

AT 1 nuz.2uoe+ud [ 25
oaee po 4234+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(c, bch) (5,14,5

-1 nui 1bYe+u4 / 25
- pO 4258+ 0.0
pL -37.02:+ 0.00

TP delay [ns]

TVC(c, bch) (5, 14 9

T nu. 35 /e+u4 / 25
- DO 4238+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(cbch) (5.14,13

-1 naiLbuge+ud 25
e, pO 4272+ 0.0
pl -36.29 + 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(CbCh) (5,14,2)

K™ 1 nuig 1yae+04 /25
- po 4244+ 0.0
- pl -35.65+ 0.00

3000

TP delay [ns]

TVC(cbch) (5.14,6

- rnunL331e+04 / 25
- pO 4250+ 0.0
[ pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (5, 14 10

Tz zs4e+04 | 25
. po 4238+ 0.0
L p1 -34.75+ 0.00

TP delay [ns]

TVC(cbch) (5. 14,14

1000

~ 1L bEYe+u4 / 25
- pD 4261+ 0.0
L pl -36.17 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,14,3)

AT 1 nuzozye+ud [ 25
— po 4236+ 0.0
p1 -34.89 + 0.00

TP delay [ns]

TVC(c, bch) (5,14, 7

-1 nui 320e+04 / 25
- pO 4279+ 0.0
-36.1% 0.0

TP delay [ns]

TVC(cbch) (5,14, 11

-1 nui gyae+u4 25
= po 4237+ 0.0
p1 -34.67 + 0.00

TP delay [ns]

TVC(cbch) (514,15

T nuiqyve+ud [ 25
- pO 4264+ 0.0
p1 -35.94 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (5, 15 0)

TrnuiLgzoie+ud [ 25

= 4200+ 0.0
-37.111;‘
[ C =26.95 [ps/c 7
51‘) 100

TP delay [ns]

TVC(cbch) (5,154

T 10/e+u4 / 25

Fame, pO 4196+ 0.0
p1 -35.77 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 15 8

1 nuiz 109e+04 / 25

= pO 4223+ 0.0
pl -36.31+ 0.00

1
0 50 100

TP delay [ns]

TVC(cbch) (5,15, 12

1 nuiz page+ud | 25

pO 4224+ 0.0

-34.72 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,15,1)

AT rnuLssie+ud /25
Foase po 4185+ 0.0
pl -36.38 + 0.00

TP delay [ns]

TVC(cbch) (5,155

“nuizz/e+u4 [ 25
F. po 4206+ 0.0
pL -35.75+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 15

~ 1 nuigy4ne+ud [ 25
4247+ 0.0
-37.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (5.15,13

T inuig r48e+ud 25
— pO 4225+ 0.0
pl -36.19+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (5, 15 2)

TP delay [ns]

TVC(cbch) (5.15,6

T4 roe+u4 [ 25
Freee, pO 4210+ 0.0
L pl -36.67 + 0.00

3000

T i1 Zbe+u4 [ 25
- pO 4218+ 0.0
L pl -36.84 + 0.00

TP delay [ns]

TVC(cbch) (5. 15, 10

1000

0

©nuiLbsbe+u4 / 25
- po 4245+ 0.0
L pl -36.65+ 0.00

TP delay [ns]

TVC(cbch) (5. 15, 14

~1nuizguse+ud | 25
[F-e. pD 4233+ 0.0
L p1 -37.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

AT 1L ozoe+ud [ 25
- po 4213+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(c, bch) (5,15, 7

-1 nur zoye+u4 / 25
- pO 4214+ 0.0
pL -35.93+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (5, 15 1

-1 nui suse+u4 / 25
= po 4255+ 0.0
p1 -36.41+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (515,15

T inuizaoe+u4 /25
- po 4220+ 0.0
-35.31+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

TVC(cbch) (6,0,0)

A~ 1 nuiasye+u4 25
4151 0.0
p1 -34.05+ 0.00

TP delay [ns]
TVC(cbch) (6,0,4)
- 1nuiz.454e+04 [ 25
Faase po 4171+ 0.0
pl -34.03 + 0.00

50 00
TP delay [ns]
TVC(cbch) (6 0,8)
©nun, zzye+u4 [ 25
e pD 4178+ 0.0
p1 -35.99 + 0.00

1
0 50 00

TP delay [ns]
TVC(Cbch) (6, O 12)
-1 nuz 180e+u4 / 25
4000 5 po 4209+ 0.0
pl -35.33+ 0.00

3000

2000

1000

TP delay

PR ISR B
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,1)

F.... po

K- rnuiL4r1e+ud [ 25
4166 + 0.0
p1 -35.52+ 0.00

TP delay

TVC(c,b ch) (6 0,5

E.. po

pl

[ns]

-1 nu 34e+04 [ 25
4181+ 0.0
-35.54 + 0.00

50 150
TP delay

TVC(c,b ch) (6 0,9

[ns]

1 nuiLy4ne+us / 25
4198+ 0.0
pl -36.58 + 0.00

1
50 00

TP delay

TVC(c,b Ch) (6, O 13

. pO

[ns]

T nuiz.usve+ud / 25
4204+ 0.0
p1 -35.68 + 0.00

M R B
50 100

TP delay

[ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,0,2)

1000

P, PO

X~ 1L 519e+04 [ 25
4172£ 0.0
p1 -34.93+ 0.00

1000

TP delay [ns]
TVC(cbch)(606) -
Trnug, rzze+U4 | 25
_l' 4198:‘
: -35.8 f 0.0
L C = 27.93 [ps/ch 1
5(') 10'0
TP delay [ns]

TVC(eb,ch)=(6, 0, 10

1000

0

F o

- 1 1w, (Abe+Ud | 25
4216+ 0.0
p1 -35.87+ 0.00

TP delay

TVC(cbch) (6,0,14

[ns]

- 1 nuzuloe+ud [ 25
4199+ 0.0
pl -35.14 + 0.00

TP delay

P R T
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3)

F.... po

A~ 1 nuiLBUSe+U4 [ 25
4186+ 0.0
pL -35.59+ 0.00

TP delay

TVC(c,b ch) (6 0,7

pO
pl

[ns]

-1 nun B3ye+u4 / 25
4204+ 0.0
-34.79 + 0.00

TP delay

TVC(c,b ch) (6, O

[ns]

Tnug, za/e+u4/25
4221+ 0.0
pl -35.69 + 0.00

1
50 00

TP delay

TVC(c,b ch) (6, O 15

. pO

[ns]

- nuzuzze+ud [ 25
4215+ 0.0
p1 -35.96 + 0.00

TP delay

M B SR B
50 100

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,1,0)

K™ 1 nui dpae+04 /25
4176+ 0.0
pl -36.92+ 0.00

TP delay

TVC(cbch) (6.1,4

[ns]

-z g1ge+ud / 25
4178+ 0.0
-34.27 + 0.00

TP delay

TVC(cbch) (6 1,8

[ns]

T L b e+u4 [ 25
4200+ 0.0
pl -34.63 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (61,12
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4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

0

4000

3000

2000

TVC(CbCh) (6,15,2)

X~ 1L zzze+04 [ 25
Frwe po 4156+ 0.0
L pl -35.28+ 0.00

3000

TP delay [ns]

TVC(c,b ch) (6, 15 6

1000

©1nuiLua4e+04 | 25
e, pO 4193+ 0.0
[ p1 -34.93+ 0.00

TP delay [ns]

TVC(e,b,ch)=(6, 15, 10

-/ L byae+ua 25
- pO 4252+ 0.0
r pL 347+ 0.0

TP delay [ns]

TVC(c,b Ch) (6, 15 14

1000

~ i 1zle+ud [ 25
. pD 4277+ 0.0
[ pl -36.31+ 0.00

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,15,3)

A1 nuiL161e+u4 [ 25
Fu.. po 4174+ 0.0
pL -36.05+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 15 7

un 9169 /25
F, po 4198+ 0.0
p1 -33.83+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 15 11

T nai 113e+u4 / 25
- pO 4241% 0.0
p1 -34.07 + 0.00

TP delay [ns]

TVC(cbch) (6, 15 15

T inuiqulie+ud [ 25
pO 4285+ 0.0
p1 -36.84 + 0.00

PR IR T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,0,0)

K™ 1nuiLorve+ud /25
P s, po 4193+ 0.0
pl -36.57 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (70,4

T L broe+ud [ 25
Frvee pO 4176+ 0.0
p1 -34.39+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 0,8

T rnuizuz1e+u4 /25
= po 4209+ 0.0
pl -35.63+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,0,12

T e+u4 /25
= po 4238+ 0.0
pl -37.77 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,1)

AT rnuiL g roe+ud [ 25
P s po 4195+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,5

-1 nuiL blye+ud / 25
e pO 4192+ 0.0
pL -35.13+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 0,9

-1 nug bope+ud / 25
= po 4212+ 0.0
pl -36.33 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7,0,13

Tinu.ryre+ud [ 25
- pO 4231+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(cbch) (7,0,2)

3000
2000

1000

K™ 1 nuiLguoe+ud / 25
40005 po 4205+ 0.0
[ p1 -36.48 + 0.00

TP delay [ns]

TVC(cbch) (7,0,6

4000 &,
3000
2000

1000

S bl /e+u4 [ 25
pO 4185+ 0.0
pl -34.55 + 0.00

TP delay [ns]

TVC(cbch) (7, 0 10

4000 [

3000
2000

1000

1 nuiz.480e+04 / 25
DO 4249+ 0.0
pl -36.73+ 0.00

0

TP delay [ns]

TVC(cbch) (7,0,14

4000 (G

3000
2000

1000

~ 1w 4gpe+u4 / 25
pD 4237+ 0.0
pl -38.17 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,3)

AT 1 nuiL, (b4e+U4 [ 25
b=, po 4197+ 0.0
pl -36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,7

= 1 nuiL guve+ud / 25
= po 4210+ 0.0
pl -34.99 + 0.00

TP delay [ns]

TVC(c,b ch) (7, O

EEALEVX Ubbe+U4/25
= pO 4246+ 0.0
pl -36.07 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7,0,15

Tinuiz.ry/e+ud [ 25
e po 4245+ 0.0
p1 -37.38+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,1,0)

- po

pl

K™ nuiazoe+04 /25
4175+ 0.0
-35.7+ 0.0

1
50 100

TP delay

TVC(cbch) (7.1,4

[Fouse, PU

pL

[ns]

-1 z4ze+04 | 25
4221+ 0.0
-36.05+ 0.00

50 10‘0
TP delay

TVC(eb,oh)=(7, 1,8

b pO

[ns]

1L Soge+u4 / 25
4226+ 0.0
pl -35.53+ 0.00

1
50 100

TP delay
TVC(Cbch) (7, l 12
= pO

[ns]

T L 53pe+u4 / 25
4223+ 0.0
pl -35.26 + 0.00

PR RS SR B
50 100

TP delay

[ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,1)

e, po

A1 Laure+Ud ] 25
4189+ 0.0
pL -36.56 + 0.00

TP delay

TVC(c,b ch) (7 1,5

[ns]

=11 4obe+04 / 25
4216+ 0.0
pl -35.49 + 0.00

50 1(;0
TP delay

TVC(c,b ch) (7, 1

e, po

[ns]

T nuggzze+u4 [ 25
4236+ 0.0
p1 -34.62+ 0.00

TP delay

TVC(cbch) (7.1,13

e, po

p1

[ns]

T inai roye+ud / 25
4221+ 0.0
-35.5+ 0.0

TP delay

PR SRS S
50 100

[ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

0

4000

3000
2000

1000

TVC(cbch) (7,1,2)

[eese po

K™ 1 nuiozoe+V4 /25
4191+ 0.0
pl -36.69 + 0.00

TP delay

TVC(cbch) (7,1,6

[ p°

[ns]

S bl /e+u4 [ 25
4231+ 0.0
pl -35.75+ 0.00

TP delay

TVC(ebeh)=(7, 1, 10

- o

[ns]

Tz zole+u4 | 25
4248+ 0.0
pl -33.37 + 0.00

- C =29.97 [ps/ch] ™

1
50 100

TP delay

TVC(cbch) (7.1,14

[ns]

T rnuiLprse+ud [ 25
4225+ 0.0
pl -35.89+ 0.00

TP delay

PR SR T
50 100

[ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,3)

P, pO

AT rmuiLoize+ud [ 25
4221+ 0.0
pl -36.32+ 0.00

TP delay

TVC(c,b ch) (7 1,7

- pO

[ns]

-1 nu 348e+04 / 25
4238+ 0.0
pl -35.99+ 0.00

50 1(;0
TP delay

TVC(c,b ch) (7, 1

- pO

[ns]

1)
-1 nui syse+u4 / 25
4262+ 0.0
p1 -34.76 + 0.00

TP delay

TVC(cbch) (71,15

= po

[ns]

Tonan 1ie+ud [ 25
4228+ 0.0
p1 -35.33+ 0.00

TP delay

[ns]



TVC(cbch) (7,2,0)

4000

3000

2000

1000

AT 1nui 1zye+04 /25
po 4206+ 0.0
pl -36.28 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (72,4

4000

3000

2000

1000

- rnuzu1ze+ud | 25
o, pO 4186+ 0.0
pl -35.33+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7,2,8

4000

3000

2000

1000

i, rove+u4 [ 25
= po 4233+ 0.0
pl -37.56 + 0.00

%

TP delay [ns]

TVC(cbch) (7,212

4000

3000

2000

1000

T i bz4e+04 / 25
pO 4215+ 0.0
pl -36.13+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (7,2,1)

AT rnun1sse+ud [ 25
. po 4190+ 0.0
p1 -36.24+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

=1 nuiL Ysbe+u4 / 25
pO 4206+ 0.0
pL -36.17+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

~ 1 nuig zgoe+ud | 25
= po 4237+ 0.0
pl -35.56 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.2,13

-1 nuiL pyze+ud / 25
pO 4212+ 0.0
pl -35.88+ 0.00

PR SRS S
50 100

TP delay [ns]
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2000

1000

4000

2000

1000

4000

2000

1000

0

4000
3000
2000

1000

TVC(cbch) (7,2,2)

A7 1 nui440e+04 /25
o po 4199+ 0.0
L pl -36.64 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,2,6

-1 Bz4e+04 [ 25
e pO 4188+ 0.0
L pl -34.58+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(7,2, 10

~1nuizyl4e+ud | 25
- po 4254+ 0.0
- pl -36.87 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,214

1L poye+u4 / 25
pD 4225+ 0.0
pl -35.57 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,3)

AT 1 nuiLzooe+ud [ 25
po 4212+ 0.0
pl -36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

= 1nuz073e+ud [ 25
= po 4211+ 0.0
pl -36.05+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 2

T bzse+u4/25
= po 4259+ 0.0
pl -37.69 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.2,15

Tonaigr1e+u4 /25
po 4229+ 0.0
p1 -35.68 + 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,3,0

K71 nui zoae+ud / 25
P po 4185+ 0.0
pl -36.05+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7.3,4

- i zobe+ud / 25
o, PO 4178+ 0.0
pl -35.65+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 3,8

Tz 1y/e+u4 [ 25
pO 4194+ 0.0
pl -36.25+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,312

T Ly se+u4 | 25
4215+ 0.0
-36.5+ 0.0

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,1

x- 1 L dove+ud | 25
s po 4195+ 0.0
pL -37.29+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

- 1nuiL4ure+u4 [ 25
e, DU 4188+ 0.0
pl -36.38 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 3,9

-1 nuiy byve+ud 25
= po 4213+ 0.0
pl -36.82 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.3,13

T nuiL pyse+ud / 25
— 4205+ 0.0
-36.31+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (7,3,2)

TP delay [ns]

TVC(cbch) (73,6

A7 1 nui p44e+04 /25
_=_ po 4201+ 0.0
o pl -36.35+ 0.00

3000

- uILAr3e+04 ] 25
Foese pO 4192+ 0.0
L pl -35.94 + 0.00

TP delay [ns]

TVC(cbch) (7, 3 10

1000

0

© 1 nuig, 1obe+u4 / 25
o=, po 4232+ 0.0
- pl -37.16 + 0.00

TP delay [ns]

TVC(cbch) (7,314

1 nuiLpYoe+u4 / 25
4210+ 0.0
-36.11 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,3

x- 1 L doae+ud | 25
P s po 4201+ 0.0
p1 -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,7

-1 nui by3e+u4 / 25
pO 4196+ 0.0
p1 -35.44 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 3

T, ube+u4125
= pO 4239+ 0.0
pl -36.81+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.3,15

T onan ) Bse+ud [ 25
po 4222+ 0.0
pl -35.99 + 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,4,0)

AT 1zse+04 /25
- po 4188+ 0.0
pl -35.98+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7.4,4

- i 314e+04 / 25
Fraese. pO 4211+ 0.0
p1 -35.79.+ 0.00

50 10‘0
TP delay [ns]

TVC(eb.ch)=(7, 4,8

©nuizyzoe+u4 | 25
po 4212+ 0.0
pl -34.96 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,4,12

T pyre+ud /25
= po 4217+ 0.0
pl -36.17 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (7,4,1)

AT 1 nuzus4e+u4 [ 25
Foase po 4184+ 0.0
pl -35.24 + 0.00

TP delay [ns]

TVC(c,b ch) (7 4,5

-1 nui bzoe+u4 [ 25
pO 4214+ 0.0
pL -35.39+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 4

Tinunp.zbe+u4 [ 25
= po 4233+ 0.0
pl -35.13 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.4,13

Tinuz/1e+ud /25
pO 4224+ 0.0
pl -35.49+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (7.4,2)

A7 1 nuz usse+ud / 25
. po 4192+ 0.0
L pl -35.99 + 0.00

TP delay [ns]

TVC(cbch) (7.4,6

“nu 1.0e+u4 /25
- pO 4224+ 0.0
[ pl -36.78 0.00

TP delay [ns]

TVC(ebeh)=(7, 4,10

-1 nuig.zuge+u4 / 25
F DO 4248+ 0.0
L pl -34.84 + 0.00

TP delay [ns]

TVC(cbch) (7.4,14

T L g43e+U4 [ 25
- pD 4212+ 0.0
[ p1 -35.84+ 0.00

PR SR T
50 100

TP delay [ns]
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3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.4,3)

AT 1z, 130e+u4 [ 25
Pe-. po 4196+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(c,b ch) (7 4,7

= 1nui 7z4e+04 | 25
= po 4233+ 0.0
pl -36.97 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 4

1)
1 nuiz ogoe+u4 / 25
po 4250+ 0.0
-35.18 + 0.00

TP delay [ns]

TVC(C, bch) (7.4,15

T nuiz 1bze+ud [ 25
- pO 4234+ 0.0
p1 3711+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,5,0)

A7 nun zuoe+ud [ 25
po 4186+ 0.0
pl -35.05+ 0.00

1
50 100

TP delay [ns]
TVC(cbch) (7 54)
TnuiL4//e+04 /25
k. pO 4189+ 0.0
p1 -34,58 ::‘
- C |
1 1
50 100
TP delay [ns]
TVC(c,b ch) (7, 5 8

1 nuiLguge+U4 / 25
po 4206+ 0.0
pl -36.52+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,5,12

T rnuiLbzse+u4 / 25
pO 4238+ 0.0
p1 -36.6 + 0.0

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,51

x- 1 L dove+ud | 25
- po 4193+ 0.0
pL -35.32:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 55

S nuiL4ye+04 [ 25
) DO 4209+ 0.0
pl -35.63 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 59

1 nub.030e+U4 / 25
= po 4219+ 0.0
pl -36.89 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.5,13

T inuiLgive+ud [ 25
= pO 4238+ 0.0
pl -36.76 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,5,2)

TP delay [ns]

TVC(cbch) (7,56

1000

K™ 1 nuiouse+ud /25
P, po 4212+ 0.0
o pl -35.9+ 0.0

3000

-1 nuigzs4e+04 [ 25
. pO 4205+ 0.0
[ pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (7, 5 10

1000

0

T z93e+u4 /25
. po 4237+ 0.0
- pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (7,5,14

T rnuiLp4e+u4 [ 25
. pD 4242+ 0.0
L pl -37.22+ 0.00

TP delay [ns]

TVC(cbch) (7,5,3)

4000 po

AT 1 nuiLb34e+U4 [ 25
4218+ 0.0
pl -35.69 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (7,57

4000 fam pO
p1

[ns]

-1 nui 444e+04 / 25
4216+ 0.0
-35.37 + 0.00

3000

2000

wool- C = 28.27 [ps/ch

TP delay

TVC(c,b ch) (7, 5

4000

[ns]

EEALEVX uaue+u4/25
4241+ 0.0
-36.3 + 0.0

3000

2000

1000

1
50 100

TP delay

TVC(C, bch) (7.5,15

4000 [Gu.

[ns]

T nui v4se+ud [ 25
4226+ 0.0
p1 -35.95+ 0.00

3000

2000

1000

TP delay

P B S S
50 100

[ns]



TVC(cbch) (7,6,0

4000

3000

2000

1000

A~ 1 bgoe+ud /25
o po 4227+ 0.0
p1 -36.79+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7.6,4

4000

3000

2000

1000

- 1L Bo3e+ud [ 25
o, po 4206+ 0.0
pl -35.45+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (7 6,8

4000

3000

2000

1000

0

-3 re+ud [ 25
po 4188+ 0.0
p1 -34.08:+ 0.00

0

TP delay [ns]

TVC(Cbch) (7, 6 12

4000

3000

2000

1000

-1 nus,u5/e+u4 [ 25
4201 0.0
-32.51+ 0.00

TP delay [ns]
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1000
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1000

4000
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1000

4000

3000

2000

1000

TVC(cbch) (7,6,1

A~ 1 nuiLbloe+u4 / 25
F... po 4230+ 0.0
p1 -36.48 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

~ 1 naiL, 744e+04 | 25
b, pO 4224+ 0.0
pl -35.87 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (7 6,9

-1 dy1e+Ud [ 25
pO 4224+ 0.0
pL -35.21+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (7, 6 13

T nai syze+ud / 25
= pO 4235 0.0
pl -35.42+ 0.00

P R T
50 100

TP delay [ns]
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3000
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1000

4000

3000
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1000

0

4000
3000

2000
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TVC sigma (RMS) (c,b,ch)=(0,2,0)
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